MOVERS SPEAKING

1) Choose the correct option in each sentence:

a. Inpicture 1 the woman ..........coevvirrianes long hair, but in the second picture
shemmiasssssaanshort hairs

b. In the first picture the man ........cc.ccceueuneeee. the ball, but in the second he

....................................... it.

c. In the first picture, the boy .......cccciviececciinnnns the ball, but in the second he
.......................................... it.

d. Inthe first picture .....ccoovvvicvnnrnnns two trees, but in the second .......c..coovevevrnene two

e. Inthe first picture there is a bird .......... ceeeneey DUL in the second
...................................... a bird

f. Inthe first picture .......ccoieieniiecnens a panda bear next to the house, but in the
SBEONG ccunmissimmeniasm a kangaroo.
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2) Look at the story and choose the correct option in each gap:

MOVERS SPEAKING. Picture Story

HAPPY  BUYS BUYS WINDY  TICKETS SURPRISED  GIVES

LOST SUDDENLY HAVEN'T  LEAVES FEELS

One day, Mum .....cccooeeeeereeceneeneee.. tickets for the cinema and she ..o

them to Charlie and Jack. Itis a ........c.ceceoerverrvenn..day, and Jack and Charlie play

With the fIVINE ..o s R ¥ (711 E———— some ice-cream.
When she returns she asks the children about the ........ccccoooevviciinns . But the
chldren ..oosunnamni got the tickets. Mum ... very angry
because the children .....cc.oceveeceeeivenee the tickets. ....ccoevccirercecrs v i, the tickets

appear flying in the air. Mum feels very ............................and the children feel very

uoLIVEWORKSHEETS



3) Click on the 2 correct options in each case:
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1. The ice-cream is different because it is cold food.
The burger is different because it has got tomato.
The ice-cream is different because it is purple.

The ice-cream is different because it is sweet.

2. The doll is different because it is a girl’s toy.
The glass is different because you can’t play with it.
The glass is different because you can drink water from it.

The ball is different because you can play sports with it.

3. The whale is different because it is dark.
The cat is different because it can’t swim.
The cat is different because it has got eyes.

The cat is different because it hasn’t got a fin.
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